E#T iz 3 BE&E HhEE
k+x @k #ARB BEHE KDRGE BRSBER B
M &t TExr TErT  TErT  TEr  TEr TExT  TE=n

W-ZE-FWA—A 42,008 307,586 2,040 2,828 (12,904)  (372,286)  (30,638)
e AR 63 351 - - - - 414
HENBARNER  BE - - - - - 4,936 4,936
ERAERANGEBRERE
TR EREE - - - - (270) - (270)
AEEEBEFE - - - - —  (173,815)  (173,815)
EA_ TT=4=RA=1+—H
—ZTT=FfMA—H 42,061 307,937 2,040 2,808*  (13,174)*  (541,165)*  (199,373)
Mﬁ AHRREFEETRD 28,31 11,477 222,955 - - - - 334,432
e AR 28 4 30 - - - - 34
BATBRREFEEZ
RipBEITHX 28 - (1,613) - - - - (1,613)
ERAERANGEBREE
hiERz WE S - - - - 580 - 580
AEEEBEFE - - - - - (76,185) (76,185

R-ZZE=F+-A=+—H 153,642 529,309* 2,040% 2,828 (12,504)*  (617,350)* 57,875




E#T iz 3 BE&E ShEE
k%  #@fEk SRR EXRHGE KIRGE BASEBER B
TExr TEr  TErT TExT TExT TEx  TE=xn

BATARRE

ARAIRMBER 153,642 529,309 2,040 2,828 (12,594)  (612,075) 63,150

BELT - - - - - (5,275) (5,275)
R-_EE=F+-A=1—H 153,642 529,309* 2,040* 2,828  (12,594)*  (617,350)* 57,875

KRR RMBER 42,161 307,937 2,040 2,828 (13,174)  (535,999)  (194,207)
NS - - - - - (5,166) (5,166)
R-ZEE=4=A=t—H 42,161 307,937* 2,040* 2,828  (13,174)*  (541,165)*  (199,373)

* RIZZEEZFFTZA=F+—H ZEHERPERAEAEABRRPREAREB 2B 74595767000 B0 (ZEE=F=A=+
— B : 241,534,000/ 7T) °

# RCEE=F+_A=+-"AR-_ZTZ=F=A=+—H ZETEEELRBTZEHEEBRED: -




